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REFEERNCES:

7.2.2.1. Dead, Live and Wind load

This calculations 

§ 6.5. Bearing reactions This calculations 

§ 6.5. 

7.2.2.2. Earth Load

Total pressure from earth (active and surcharge):

total H= 225.6 + 224.4 = 450 kN

Total resistance from soil friction at the base: = 1592.4 kN

Since, the friction in between the concrete base and the soil is quite significant due to the total vertical reaction on the abutment, we will assume it is not

needed to considerate this load for pile distribution loads. SAP200 RESULTS

FILE:

Note: Horizontal loads from the longotudinal load on the bridge due to the traction and braking is applied in full at the abutmnet and resisted by the piles.

kxHxgama,soil=

0.33x3.393x18=20.148 

kN/m2

E= 20.15x3.393/2=

34.18 kN/m

total R=   3485 kN

total R=   496 kN

Friction at the base=     xtotal 

R+Gabut.=0.4x(3485+496) kN

=0.4-0.5 Friction at the base     

Friction at the base=1592.4 kN     

Friction at the base=1592.4 kN     

total E= 6.6mx34.18=

225.6 kN/m

soil height above the 

abutment=1.72m., 

distribution_length=1.5+1.72=3.22m 

surcharge vertical pressure=P/3.22=126 kN/m 

p,surcharge hor.=0.33x126=41.4 kN/m 

S= 41.4 x3.22=224.4kN
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